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3) X 2AAY AP 2A ¢ WA
B YA =448 4%
B E A (m') A5WA () | A5AAH () [AHAER)| &4 E (%)
= = 2| "z
N Aa | wn | am | wn | an | wa |8 ralag| T T
Al 1,112,394]1,112,394] 29,376 29,621| 81,279] 81,524| 2.6] 2.6] 7.3] 7.3
A9 A A 608,256| 608,256 27,583|27,583|78,947| 78,947| 4.5] 4.5] 12.8] 12.8
2 A 123,035] 123,035] 19,005] 19,005 66,239] 66,239
A 8,992]  8,992| 1,760| 1,760[17,600]17,600(19.6/19.6/195.7(195.7| 10= [1302
oo ¥ w3 @] 19,183 19,183 2,400] 2,400[12,000]12,000[12.5[12,5] 62.6] 62.6] 5% | 3%
f] = T | 31,480 31,480 4,000 4,000]18,300|18,300[12.7|12.7] 58.1] 58.1[1-5%| 2%
N d | 17,542 17,542 3,160 3,160] 9,480] 9,480[18.0[18.0| 54.0| 54.0] 3% | 5%
=
o o - - - - - -
= ¥ A | 45,838 45,838 7,685 7,685 8,859| 8,859[16.8/16.8] 19.3] 19.3[1-2%[120%
A 2 A 18,328] 18,328| 5,268| 5,268 9,398] 9,398
@1} 2 7} | 13,884 13,884| 3,818| 3,818| 6,798| 6,798|28.8(28.8] 50.4| 50.4|1-2%|14%
A
A |AIETRERSAE] | 4,444|  4,444| 1,450 1,450 2,600 2,600(32.6(32.6| 33.4| 33.4| 2%
2 A 28,513| 28,513] 400 400] 400 400
0| HYUZF 2,622 2,622
f]; AlEE | 1,804] 1,804
=l 5T - -
= uf 2 24,087 24,087| 400 400 400] 400 1.7] 1.7| 1.7 1.7] 1=
CX 2 A 7,146 7,146 2,200] 2,200 2,200] 2,200
A [olR=mEAE | 7,146] 7,146 2,200 2,200 2,200] 2,200[30.8]30.8] 30.8] 30.8] 1=
e 2= 38,341| 38,341 250/ 250 250[ 250
;W AutelHAIA| 13,781 13,781 50 50 50 50/ 0.4] 0.4] 0.4| 04] 1=
Sl Z9)7tE | 24,560] 24,5600 2000 200[  200] 200] 0.8] 0.8] 0.8] 0.8] 1=
2 A 64,784 64,784] 460 460] 460 460
] #gehlAlel|  2,300] 2,300  460] 460 460  460[20.0(20.0] 20.0| 20.0] 1%
;l“ = 54,276 54,276
=l FAE 3,638] 3,638
A FA 4,570, 4,570
. 2 A 328,109] 328,109
N Al 5A 11,936 11,936
“ 943¥%x | 316,173] 316,173
X374 Zx4 | 504,138] 504,138 1,793| 2,038| 2,332 2,577| 0.4] 0.4] 0.5] 0.5
2 A 1(1194‘;232) 1(118;1%% 278/ 278/ 318 318/8.3/8.3] 9.5 9.5
_?__‘I—_ 5 y
;]j; Fxsx | 116,075] 115,239
=
FIAEH (13;5’5%7) (135’5%7) 278/ 278 318 318|8.3/ 8.3 9.5 9.5 3=
2 A (114211563()) (1144%93? 1,481 1,726/ 1,980| 2,225
N 3,417 3,417 996| 996| 1,495 1,495|29.1]29.1] 43.8] 43.8
Y F 1,500]  1,500] 300/ 300] 300 300/20.0[20.0[ 20.0] 20.0
|| BAF 1,100 1,100] 180 180| 180| 180[16.4]16.4] 16.4| 16.4
bl =9 50 50 5 5 5 5/10.0[10.0] 10.0] 10.0
FER A - 836 - 245 -l 245 -|293| -[29.3
. 4,237] 4,237
. X]— i) y
T (1,453)| (1,453)
T = 3,856] 3,856
2 A 372,009| 372,009 34 34 34 34
ol AEA | 161,525 161,525 34 34 34 34 -1, 2
A 5
AR E=A]| 210,484] 210,484




SN RIREL: A8 e
RIS RS a2 wzna 2
- - - ;é%%; 245w A Sl ZlRRas A5
of }E AR 2YAH W
-9 W A uUsm o
- A9E 1 29.3%, §4F 1 29.3% ¢
4) A AAE AR EA
SR A (i) AHFUA () | AFAHA(m) | An&(%) | 8RE(%) | _
T 7174 WA P s I - B I = B s - R P B A i R A e B i R s T o
Al 1,112,394|1,112,394|29,376|29,621| 81,279| 81,524 2.6| 2.6| 7.3| 7.3
MNEHHAIE 608,256 608,256|27,583(27,583| 78,947| 78,947| 4.5| 4.5| 12.8| 12.8
A A 123,035] 123,035(19,005|19,005| 66,239 66,239
o4 s o 8,992 8,992| 1,760| 1,760| 17,600| 17,600|19.6|19.6]195.7{195.7| 105 |1304 | &ZF AR
g v 5 = 19,183 19,183] 2,400| 2,400| 12,000| 12,000 5% | 3%
dut s el 5,504 5504 800| 800| 4,000{ 4,000|14.5|14.5| 72.7| 72.7 504 | &=FARE
gurzEn2 [ 6,346]  6.346] 800 800 4,000 4.000[12.6]12.6|63.0] 63.0 5041 | &xA|
YUt s El3 7,333 7,333]  800| 800| 4,000{ 4,000|10.9/10.9| 54.5| 54.5 504 | 25X
= ey 31,480 31,480| 4,000| 4,000| 18,300| 18,300 1-5%| 2%
= = | 12.286] 12.286] 2,300 2.300] 11,500| 11,500(18.7|18.7] 93.6] 93.6 1204 <191 =] x] o
FRAE2E 19,194 19,194| 1,700 1,700 6,800| 6,800| 8.9| 8.9| 35.4| 35.4 704 [AFA SRR
As 2l 17,542 17,542 3,160| 3,160| 9,480| 9,480 32 | 55
md] 5,557 5557 680 680| 2,040| 2,040|12.2|12.2| 36.7| 36.7 454 | &2 AR E
2e2 4,071 4,071 680 680| 2,040| 2,040|16.7|16.7| 50.1| 50.1 454 | 25 ARH
=43 3,244 3,244 600| 600| 1,800| 1,800|18.5/18.5| 55.5| 55.5 404 | EFARXSE
& | med 2,572|  2,572| 600/ 600| 1,800| 1,800]23.323.3| 70.0| 70.0 4041 | EZAR|
| | mus 2.098| 2098 600/ 600| 1.800| 1.800]28.6]28.6| 85.8] 85.8 404 | EZAR]
Al @ - B I ! ]
I - - - - FFAR
o2 - R F57A19
o] 23 - - - - - - ARG
o] ¥4 - I F5AAY
o} 85 - 1 - F5AAAY
o} 6 - 1 - F574R
o 97 - - F5ARY
ol 8 - 1 - F5AANY
o179 - 1 - F5745]
] %10 - - 57
o711 - - - - - - =AY
017112 - I F5715




L SARAm) | AEAM(m) | AFARRm)] AW%) | 8HNE%)|
N W wa | om | wa | e | wE | om [malomleal |
FE]X|(1~30)| 9,676| 9,676 1,800/ 1,800 1,800f 1,800 1-2=| 18=

FE A1 470|470 80 80| 100/ 100|  17.0/17.0| 21.3| 21.3 AFA=R]| A
HE| A2 503| 503 80 80| 100/ 100|  15.9/15.9] 19.9 19.9 AFA=R]| A
SE| A3 594 594 80 80| 100/ 100|  13.5/13.5| 16.8| 16.8 AFA=R| A
FE|A4 588 588 80 80 100 100 13.6/13.6| 17.0{ 17.0 AtA =X XA
SE]A]5 595 595 80 80 100 100 13.4|13.4| 16.8| 16.8 AA=R]A S
¥ 76 585/ 585 80 80 100| 100 13.713.7] 17.1] 17.1 AFA =R R A
HE| X7 440| 440 80 80| 100| 100|  18.2/18.2| 22.7| 22.7 AP =] K]
HE A8 450/ 450 80 80| 100| 100|  17.8/17.8|22.2| 22.2 AP =R K]
HE|A9 499 499 80 80| 100/ 100/  16.0/16.0| 20.0| 20.0 S
FE] A 10 585 585 80 80 100 100 13.7113.7| 17.1| 17.1 At =X XS
FEA11 | 5200 520 80 8o| 100 100|  15.4|15.4| 19.2] 19.2 Rped = x| x|
HE|A]12 398 398 60 60 100 100 15.1|15.1] 25.1| 25.1 AA=X]R S
FE]A]13 493 493 80 80 100 100 16.2|16.2| 20.3| 20.3 At =X XA
FEA14 | 732] 732 80 80| 100/ 100/  10.9/10.9| 13.7| 13.7 AP = x| K] &
FE|X|15 | 482 482 80 80| 100/ 100/  16.6/16.6| 20.7| 20.7 S
FE|X|16 | 616 616 80 80| 100| 100|  13.0/13.0| 16.2| 16.2 AFA=R]| A

|| EEAIT | 626 626 80 80| 100/ 100|  12.8/12.8| 16.0| 16.0 AHA=R| A

i FEIA 18 500 500 80 80 100 100 16.0|16.0| 20.0{ 20.0 At =R XA

ML I S S R S FhiiA]

A | #EA20 - - - - - - A=A A
2421 1 - ] - - Rl = x| x| o
¥ 422 - - - - Rl =x] 7] o
€] %23 - - - e R =R A]
SE 24 - - - - - RH1 =7 K]
SLEA25 - - - - - - R}l x| %]}
S1E] %26 - - - A R =A] 2] o
¥ 4|27 . - - - R =A|R] o
€] %28 - - - e A1 =R A] o
S1E]%]29 - - - |- Rl =x] 2] o
EERED - - - |- Rl =x] 2] o

FEIRX)(31~74)|19,918/19,918 3,520| 3,520 3,520| 3,520 1= |44%

FE]A31 451 451 80 80 80 80 17.7/17.7\ 17.7\ 17.7 At =R XA
FE|A]32 400 400 80 80 80 80 20.0(20.0| 20.0{ 20.0 A SRR S
FE]A]33 438 438 80 80 80 80 18.3/18.3| 18.3| 18.3 At =X XA
FE|X|34 | 489 489 80 80 8o| 80| 16.4/16.4] 16.4] 16.4 AP =R] A]
SE| X35 | 495 495 80 80 80| 80| 16.2]16.2 16.2] 16.2 AP = x| R] o
SE|X36 | 540|540 80 80 8o 80| 14.8/14.8[14.8[ 148 AP = x| R] o
HE|A37 | 405] 405 80 80 8o 80| 19.8/19.8] 19.8 19.8 AFA =R A
FE|A38 405 405 80 80 80 80 19.8/19.8| 19.8| 19.8 AtA =X XA
FE| X139 436 436 80 80 80 80 18.3/18.3| 18.3| 18.3 AHA=X]A S




EAHA () (AEHAm)| AF5AUA(m) | &%) | S5 (%)
Y LR
Ak I - I A B i s A R B i = I I e O s B s i B
E) %140 440 440 80| 80 80 80| 18.2 18.2] 18.2] 18.2 R}od = x| &]
TE) A 41 470 470] 80| 80 80 80| 17.0] 17.0] 17.0] 17.0 Rped = x| &]
FE] A 42 431] 431] 80| 80 80 80| 18.6] 18.6] 18.6] 18.6 A=A K]
EEEPE 540 540 80| 80 80 80| 14.8 14.8] 14.8] 148 R}l = x| x|l
HE] A 44 446| 446| 80| 80 80 8ol 17.9] 17.9] 17.9] 179 R}l = x| %] o}
FE %45 501| 501] 80| 80 80 80| 16.0| 16.0] 16.0] 16.0 R}od = x| &]
FE] 146 481 481] 80| 80 80 80| 16.6| 16.6| 16.6] 16.6 RHA =] A
HE| A 47 489 489] 80| 80 80 80| 16.4] 16.4| 16.4| 16.4 R}od = x| &] o
FE]X]48 462| 462| 80| 80 80 8ol 17.3] 17.3] 17.3] 173 A1 =] K]
FE]#]49 430 430] 80| 80 80 80| 18.6| 18.6] 18.6] 18.6 R}od = x| &]
FE) A 50 400/ 400| 80| 80 80 80| 20.0] 20.0] 20.0] 20.0 A=A ]
FE#|51 413| 413] 80| 80 80 80| 19.4] 19.4] 19.4] 194 R}od = x| &]
HE] A 52 435| 435] 80| 80 80 80| 18.4] 18.4] 18.4] 184 R}l = x| 7] o}
FE|A]53 424 424] 80| 80 80 8o| 18.9] 18.9] 18.9] 18.9 R}od = x| &]
E] %54 443 443] 80| 80 80 go| 18.1] 18.1] 18.1] 18.1 Ao = K| &]
FE] A 55 464| 464| 80| 80 80 80| 17.2| 17.2] 17.2] 172 R}od = x| K]
FE| A 56 520 520/ 80| 80 80 80| 15.4] 15.4] 15.4] 154 R}ed = x| &] o
FE| A 57 461| 461] 80| 80 80 80| 17.4] 17.4] 17.4] 17.4 A1 =] ]
HE] A58 466| 466| 80| 80 80 80| 17.2] 17.2] 17.2] 172 A=A ]
FE]#]59 472| 472] 80| 80 80 80| 16.9] 16.9] 16.9] 16.9 R}od = x| ]
| | ZEA60 599| 599| 80| 80 80 80| 13.4] 13.4] 13.4] 134 R}l = x| x| o}
i SE 761 420 420 80| 80 80 80| 19.0] 19.0] 19.0] 19.0 R}od = x| &]
j] HE] A 62 4100 410, 80| 80 80 80| 19.5/ 19.5| 19.5| 195 R}od = x| &]
4| | 2EA63 439] 439] 80| 80 80 80| 18.2| 18.2] 18.2] 182 R}od = x| K]
FE] A 64 426| 426] 80| 80 80 80| 18.8 18.8] 18.8] 18.8 R}od = x| &]
HE] A 65 400/ 400| 80| 80 80 80| 20.0] 20.0] 20.0] 20.0 A=A ]
FE| 66 414| 414] 80| 80 80 80| 19.3] 19.3] 19.3] 19.3 R}od = x| &]
HE|A 67 460| 460| 80| 80 80 80| 17.4] 17.4] 17.4] 174 R}l = x| %] o}
FE] 68 415| 415] 80| 80 80 80| 19.3] 19.3] 19.3] 19.3 R}od = x| &]
HE] A 69 454 454) 80| 80 80 80| 17.6| 17.6| 17.6] 17.6 R}od = x| &]
E) 40 440 440 80| 80 80 80| 18.2 18.2] 18.2] 18.2 R}od = x| &] o
FE) X141 470 470] 80| 80 80 8ol 17.0] 17.0] 17.0] 17.0 A=A K]
FE] |42 431 431] 80| 80 80 80| 18.6| 18.6] 18.6] 18.6 R}od = x| &]
HE] 443 540 540 80| 80 80 80| 14.8] 14.8] 148 14.8 A=A ]
FE] ] 44 446 446| 80| 80 80 80| 17.9] 17.9] 17.9] 17.9 RFod = x| &]
HE] A 45 501| 501] 80| 80 80 80| 16.0] 16.0] 16.0] 16.0 R}l = x| x| o}
E] ] 46 481 481] 80| 80 80 80| 16.6| 16.6| 16.6] 16.6 R}od = x| &]
HE| %47 489 489 80| 80 80 80| 16.4] 16.4| 16.4| 164 R}od = x| &]
FE] 148 462| 462| 80| 80 80 80| 17.3] 17.3] 17.3] 173 A=A K]
FE] 49 430 430] 80| 80 80 80| 18.6| 18.6] 18.6] 18.6 R}od = x| &]
FE) A 50 400/ 400| 80| 80 80 80| 20.0] 20.0] 20.0] 20.0 A=A ]
EEEE 413| 413] 80| 80 80 80| 19.4] 19.4] 19.4] 194 Rpod = x| &]
FE]A]52 435| 435] 80| 80 80 80| 18.4] 18.4] 18.4] 184 R}od = x| &]
HE|A53 424 424] 80| 80 80 80| 18.9] 18.9] 18.9] 189 R}l = x| x| o}
E]#] 54 443 443] 80| 80 80 go| 18.1] 18.1] 18.1] 18.1 R}od = x| &]




5w AT A A (m) FUA(m) | AFARN(m) | AW &(%) | BHE%) | oo
" E SRR R R EFIEE IR
SE]A]55 464 80| 80 80 80| 17.2|17.2| 17.2| 17.2 R} =] x|
S E]#]56 520 80| 80 80 80| 15.4|15.4| 15.4| 15.4 A=A Ao
E]A57 461 80| 80 80 80| 17.4/17.4] 17.4| 17.4 AFA =X XA
S E]A]58 466 80| 80 80 80| 17.2|17.2| 17.2| 17.2 A =x] R A
FE]A]59 472 80| 80 80 80| 16.9/16.9| 16.9| 16.9 A =R X
FE] A 60 599 80| 80 80 80| 13.4|13.4| 13.4| 13.4 R} = 1] x|
FEA61 420 80| 80 80 80| 19.0/19.0/ 19.0 19.0 ArA=A XS
T A]62 410 80| 80 80 80| 19.5/19.5 19.5| 19.5 ArA=A| A9
S #]63 439 80| 80 80 80| 18.2/18.2| 18.2| 18.2 A}l = R| x| o
FE] %64 426 80| 80 80 80| 18.8/18.8| 18.8| 18.8 R}l = 1] x|
FE|A65 400 80| 80 80 80| 20.0/20.0/ 20.0| 20.0 R}l = 1] x|
FE] X166 414 80| 80 80 80| 19.3/19.3| 19.3| 19.3 A =R X
FEIA67 460 80| 80 80 80| 17.4/17.4] 17.4| 17.4 A =x] R A
FE]A]68 415 80| 80 80 80| 19.3/19.3| 19.3| 19.3 A =R X
S #]69 454 80| 80 80 80| 17.6/17.6| 17.6| 17.6 AHA =R XA
A 70 423 80| 80 80 80| 18.9/18.9| 18.9| 18.9 A=A A9
FEAT71 460 80| 80 80 80| 17.4/17.4] 17.4| 17.4 At =X x| A
FE|A 72 434 80| 80 80 80| 18.4|18.4| 18.4| 18.4 R}l = 1] x|
HEA73 432 80| 80 80 80| 18.5/18.5| 18.5| 18.5 A=A Ao
FE A 74 485 80| 80 80 80| 16.5|16.5| 16.5| 16.5 A=A Ao
- |FEIA75~132)| 15,947 2,306| 2,306/ 3,480| 3,480 =
1 FEA75 226 40/ 40 60 60| 17.7|17.7| 26.5| 26.5 A =R x| A
; FEA76 190 38| 38 60 60| 20.0/20.0| 31.6 31.6 A=A A S
| ZEATT 190 38 38 60 60| 20.0/20.0| 31.6| 31.6 AIA =5 XX A
S| =ZEA78 190 38 38 60 60| 20.0/20.0| 31.6| 31.6 A =R X
FE|A]79 200 40| 40 60 60| 20.0/20.0/ 30.0 30.0 AIA =X XA
FE 80 225 40/ 40 60 60| 17.8|17.8| 26.7| 26.7 A=A Ao
HE|X 81 190 38 38 60 60| 20.0/20.0| 31.6| 31.6 R}l = 1] x|
FE|X]82 190 38 38 60 60| 20.0/20.0| 31.6| 31.6 R} = 1] x|
FE] =83 190 38| 38 60 60| 20.0/20.0| 31.6| 31.6 A=A A S
FE] A 84 190 38| 38 60 60| 20.0/20.0| 31.6| 31.6 A =R x| A
FE]A|85 264 40/ 40 60 60| 15.2|15.2| 22.7| 22.7 R} = 1] x|
FE]#|86 275 40/ 40 60 60| 14.5|14.5| 21.8| 21.8 A}l =R x| A
SE|A87 271 40| 40 60 60| 14.8|14.8| 22.1| 22.1 AA =X XA
¥ 788 284 40| 40 60 60| 14.1|14.1] 21.1] 21.1 AA =X XA
FE| X189 281 40/ 40 60 60| 14.2|14.2| 21.4| 21.4 R}l = 1] x|
FE| X190 297 40/ 40 60 60| 13.5/13.5| 20.2| 20.2 R} = 1] x|
FE A 91 286 40/ 40 60 60| 14.0|14.0| 21.0| 21.0 ArA=A XS
FEA92 281 40| 40 60 60| 14.2|14.2| 21.4| 21.4 Aol =R x| o
FEA93 278 40/ 40 60 60| 14.4|14.4) 21.6| 21.6 A=A R A
FE| A 94 263 40/ 40 60 60| 15.2| 15.2| 22.8| 22.8 R}l = 1] x|
FE)A95 279 40/ 40 60 60| 14.3|14.3| 21.5| 21.5 A}l =R x|
EA96 271 40| 40 60 60| 14.8|14.8| 22.1| 22.1 AHA =X XA
FEA97 247 40| 40 60 60| 16.2| 16.2| 24.3| 24.3 A =R XA
FE] 2|98 233 40/ 40 60 60| 17.2/17.2| 25.8| 25.8 A=A A




2w EAAA(m) | A5EAm) | AF5AUA(m) |Au&(%)| 85 5(%) 2xlan Wl
718 |83 | 718 |83 7R Ha 718841713 |HA
FE|A]99 280 280 40| 40 60 60(14.3]14.3|21.4|21.4 A =R K| A
FEA 100 280 280 40| 40 60 60(14.3|14.3/21.4(|21.4 ArA 5 AR A
FE|A]101 258| 258 40| 40 60 60(15.5/15.5|23.3| 23.3 A=A K| A
FE X102 323 323 40| 40 60 60(12.4|12.4/18.6|18.6 At =X R H
FE]| #1103 314| 314 40| 40 60 60(12.7|12.7/19.1| 19.1 A A5 A K| H
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